CornacoBaHo: Ilepeyenb OCHOBHBIX JeTAJEN U Y3JI0B VTBer(ZlaIO
HNuxeHep-KOHCTPYKTOP ra3’oHOKOCHJIKH PVYHOM TexHU4eCcKUil TUpEKTop
_ HerporB.I. aaexTpuyeckoii F'PI-1,5
WHKeHep TEXHOJIOT _ Anucenkos O.A.

Pomanuyk A.C. T 2015
Mos. HaunmeHoBaHHe Kou. 31 CronopHoe koJblo & 23 1
1 "atika M10L 1 32 Koneco 3y6uaroe Z=22 1
2 Dnanen BHEMHUH 1 33 HMommumauk 606RS (6x17x6) 1
3 Hox 1 34 Bunr (camopes) 4x16 10
4 dnanHen 1 35 Kopmyc npaBbiii 1
5 @ranen BHYTPEHHUH 1 36 Bunr (camopes) 4x16 3
6 Bunr M5x10 S 3 37 Bunr (camopes) 4x14 4
7 @DiiaHel NblIe3alUTHBIHA 1 38 Kpeimika pegykropa 1
8 bobuna B cbope 1 39 BunT (camopes) 5x55 2
8.1 | Kopmyc 600uHEI 1 40 Kopmyc penykropa 1
8.2 | Illaitba @ 16 2 41 [Mommmnank 6001 RS (12x28x8) 1
8.3 | Ilpyxuna koHmueckas 2.2 =59 1 42 SIxops 1
8.4 | Karyuika 1 43 IMogmmmauk 608 RS (8x22x7) 1
8.5 | Koxyx 3alMTHBIHA 1 44 BhIKIIOYaTEND 1
9 Penykrop B cbope 1 45 Konnencarop (0,33uF; 275B) 1
9.1 | Konblo cTonopHoe BHyTpeHHee & 32 1 46 Biok miasHoro nycka (8A, 230V, 50Hz) 1
9.2 | Ulnuxnens 1 47 Jpoccenb 1
9.3 Hommmmank 6002RS (15x32x9) 1 48 Crarop 1
94 Kouneco 3ybuaroe Z=20 1 49 ®nanen 3aqHAN 1
9.5 | Hogmunauk 6000RS (10x26x8) 1 50 Bunr (camopes) 3x10 2
9.6 | Kopnyc pemykropa 1 51 lerka 7x11x17 2
9.7 | Buar M6x10 S 1 52 [leTkoaepKaTeib 2
9.8 | Buar M5x12 S 1 53 Brynka @ 8 1
9.9 | Bunt M5x25 S 1 54 Benrtuisitop 1
9.10 | Bay-mecrepust Z=15 1 55 Taiixa M8 1
9.11 | Homgmmmauk 609RS (9x24x7) 2 56 HInyp cereBoii 2x1, L=10,55m 1
9.12 | Koms1i0 cTomopHoe BHyTpeHHEee ) 24 1 57 TpyOka 3amuTHas 1
9.13 | Koms1o cronoproe @ 10 1 58 Bunr (camopes) 4x11 2
10 | Koxyx 3aiuTHbIi 1 59 [InacTuHA OPUKUMHAS 1
11 [lItanra HIWKHSSL B cOope 1 60 Kopriyc JieBblit 1
11.1 | Hwxknaas mradra 26x730mMMm 1 61 BJIOKHPOBKa BBIKJIIOUATEISI 1
11.2 | 3aknemnka 1 62 IIpyxuHa kpydeHus 1.5x12x6 1
11.3 | Kponureiin 1 63 Ckoba 1
11.4 | IlnactuHa — npy>KUHA 1 64 [pyxuna 0.8x9.5x25 1
(TIoKa3aHa YCIOBHO) 65 KaBuia BBIKIIOYEHHS 1
11.5 | 3aknemnka 1
12 Bunt M5x16 S 2
13 Brynka (mmactuk) @ 22,5 6
14 Kectkuii Ban 9x745mMm 1
15 Brynka npuBoaHas 2
16 | ®ukcarop 4
17 KpoHureliH kpenyieHus: ITaHru 1
18 Bunr 3axxumHoit M6x22 1
19 Bunt M6x20 S 1
20 Bunrt (camopes) 5x8 1
21 BepxHuss mranra 26x660Mm 1
22 Bunt M5x18 S 2
23 Kponmreitn 1
24 I"aiika M5 2
25 [onmypyuka neBas 1
26 [Monmypyuka mpasast 1
27 KecTkmii Ban 9x626MM 1
28 [Mommmmauk 6000 RS (10x26x8) 1
29 Inungens 1
30 | Illnonxka (3x3.7x9) 1 lazonokocuika

I'PO-1,5
JIuct 1




I"'azoHOKOCHIIKA
I'PD>-1,5
Jlucr 2

_3| _|30__|292 16;Ju|15 27]

' B
160U |15 |14




